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1
Decision/action requested

The group is asked to discuss the UE selection in the network sharing scenarios.
2
References
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3
Rationale

There are five scenarios discussed for RAN sharing:
4.1.2.1 
Scenario 1A: Shared node managed by Master Operator DM.
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Scenario 1A

UE Selection Scenario in the shared node:

1. As shown in the figure, Node 2 are shared by A & B; UE1 belongs to Operator A, UE2 belongs to Operator B; There are direct connections from  Operator A and Operator B NMS to the Shared Node DM (SRDM).

2. When Hosting RAN operator A NMS (HRNM) activates an area based MDT job on Node 2:
Selection of UE: 

i. The current UE selection will check “In case the Management Based MDT Allowed IE is available, the eNodeB/RNC shall verify if the UE’s RPLMN matches the PLMN where TCE resides – Trace Reference PLMN (PLMN portion of the Trace Reference). In case of a mismatch, the eNodeB/RNC shall not select the UE.”.

ii. According to the above description, UE2 will not be selected for Hosting RAN operator’s MDT job.
Question: Whether we should consider to allow the participating operator’s UE to be selected for Hosting RAN operator’s MDT job?
4.1.2.2 
Scenario 1B: Shared node managed by Master Operator DM (3GPP defined).
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Scenario 1B
1. UE Selection Scenario in the shared node:Only Hosting RAN operator A’s  NMS(HRNM) connects to the Shared Node DM(SRDM), The participant operator B can only get the Shared Node OM data through  HRNM.

2. When Hosting RAN operator A NMS (HRNM) activates an area based MDT job on shared Node 2, 
Same question and proposal as described in scenario 1A.
2.1.2.3 
Scenario 1C: Master Operator – Manages all RAN.
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Scenario 1C

1. When Hosting RAN operator A NMS (HRNM) activates an area based MDT job on shared Node 2, 

Same question and proposal as described in scenario 1A.
1.1.2.4 
Scenario 1D: Master Operator – Manages all RAN. (3GPP defined).
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Scenario 1D
1. When operator A NMS  activates an area based MDT job on shared Node 2, 

Same question and proposal as described in scenario 1A.
4.1.2.5 
Scenario 1E: Network sharing between operators who own independent equipment and no DM/NM sharing.
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Scenario 1E
UE Selection Scenario in the shared node:
1. When operator B NMS activates an area based MDT job, as UE1 (moved from PLMN1) remains the same PLMN identity, so the UE1 will not be selected according to the current standard.
Question: Whether the “Operator B” can select UE1 for MDT data collection.
4
Detailed proposal

4.1.7
MDT/Call Trace impact

4.1.7.1 
UE Selection in Area based MDT
In area based MDT, whether a UE belonging to participating operator can be selected by other operators’ MDT job depends on the operators RAN sharing agreement. A MDT PLMN list should be considered to indicate RAN sharing agreement between participating operator and hosting operator and it will be used by the shared node when he made the UE selection. 
For example, for scenario 1A, whether UE2 can be selected by operator A’s MDT job as showing in the following diagram will depend on the network sharing agreement.
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